Class test — SET THEORY
Which of the following statements are true or false :
() {L2.3}={L{2}.3}. (i){1.2.3} ={3.1.2}.

(i) {a.e, 0} = {a.b.c}. W) {opf=1{ }

Write the set m Roster formrepresented by the shaded portion m the following.
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Represent the follwomg usmg Venn diagram.
(1) ( A u B)' provided A and B are not disjoint sets.

(1) ( A ~ B)' provided Aand B are disjomt sefs.
(i1) ( A — B)' provided A and B are not disjoint sets.

Let U={1.2.3.4,5.6.7.8.9.10}. A{2.4.6.8}, B={13.5.7}
Verify that

(1) (AuB)'=A'"nB'

(11) (AnB)'=A'UB'

(1) (A-B)u(B-A)=(AUB)-(ANnB).
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